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���!!!{{{üüüOOO���KKK(���KKK÷÷÷©©©18©©©§§§zzz���KKK6©©©)

1. ¦lim
x→0

(
1 + 5x)

1
sin x¶

2. �f(x) = xex,¦f (n)(x)§n ≥ 1¶

3. ¦¼êarccosx�MaclaurinÐmª£�4�¤"

1 1� ( � 9� )
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���!!!OOO���eee������KKK(���KKK÷÷÷©©©18©©©§§§zzz���KKK6©©©)

1. �¼êy = y(x)d�§x = t+ sin t9y = arctan t− y3 (t > 0)¤(½,¦
dy

dx
¶

2. ¦ lim
n→∞

(sin
1

n2 + 3n3
)

n∑
k=1

ke
k
n¶

3. ®�f ′(x) =
√

1 + x2§g′(x) =
1

1 + x
§�f(0) = g(0) = 0§ Á¦4�

lim
x→0

( 1

f(x)
− 1

g(x)

)
"

1 2� ( � 9� )
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nnn!!!OOO���eee���ÈÈÈ©©©(���KKK÷÷÷©©©24©©©§§§zzz���KKK8©©©)

1.

∫ √
x2 + 2x+ 2dx¶

2.

∫ 2π

0

1

1 + 2a cos θ + a2
dθ, Ù¥¢êa > 1¶

3. Á^Beta¼êL«

∫ +∞

0

xa

(1 + x2)b
dx§Ù¥a, b�¢ê�a > 0§2b− a > 1"

1 3� ( � 9� )
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ooo!!!(���KKK÷÷÷©©©8©©©) ®�²¡ Σ ²L�� L :

 x+ 3y + z = 0

x− y + 2z = 0
��²¡

Σ0 : 3x+ z = 6 �Y��
π

3
, ¦Σ ��§"

1 5� ( � 9� )



ÊÊÊ!!!(���KKK÷÷÷©©©8©©©)�­¡Σ´d²¡­�r = a(1 + cos θ) (a > 0)74¶^=�±

¤¤§Ù¥x¶���4¶�­Ü"£1¤Á�ÑΣ3�A�m���IX¥��

§¶£2¤¦Σ�¡È"

1 6� ( � 9� )
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888!!!(���KKK÷÷÷©©©8©©©)�a > 0,Á(½a���¦�­�y = ax���y = x7��

£�¦`²nd¤"

1 7� ( � 9� )



ÔÔÔ!!!(���KKK÷÷÷©©©8©©©)�¼êf(x)u[0,+∞)þëY§�÷v

f(x) =
1

x2 +
( ∫ x

0
f(t)dt+

√
3
)2 ,

£1¤y²µ�~È©

∫ +∞

0

f(x)dxÂñ§�Ù��u
π

2
√

3
¶£2¤�ê�{xn}∞n=1÷

v xn+1 =

∫ xn

0

f(t)dt§n ≥ 1, x1 ≥ 0§Áyµ lim
n→+∞

xn �3�k�"

1 8� ( � 9� )
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lll!!!(���KKK÷÷÷©©©8©©©)�A =

(
akj
)
3×3´3�¢�
§|A| 6= 0§PD(x) =

(
akj +x

)
3×3

9g(x) = detD(x)"£1¤Á¦�êg′(x)¿y²µg′(0) = |A|αT (A−1)α§ Ù¥�

þαT = (1, 1, 1)¶£2¤eA =


2 3 4

2 1 1

−1 1 2

§ ¦g′(0)"

1 9� ( � 9� )


